Year 5 Task 1
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City Helicopter Flight
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o @) What is the height of the helicopter at 10:30 am?
How long does the helicopter stay at this height?
b) How long does the helicopter flight last?
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Thighlighted the graph
where it shows the helicopter
flying at 3,500 metres. This is

Tdrew a line up from 10:30 am
and across to the height. The
height is half-way between

. 3000 0nd 4000 metres.

a horizontal line.

The height of the helicopter at 10:30 am is 3,500 metres.
The helicopter stays at this height from 10:30 am to 11:00 am.

This is half an hour or 30 minutes.

b) The helicopter flight starts at 9:30 am. The flight finishes at 11:45 am.

+1 hour +1 hour +15 mins.
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The helicopter flight lasts 2 hours and 15 minutes or 2 ; hours.
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a) What was the highest recorded temperature during the day?
The highest recorded temperature during the day was (] °C.
b) Estimate what the temperature was at 130 am.
The temperature at 11:30 am was about . "
@) Estimate how long the temperature was above 20 °C.

The temperature was above 20 °C for about (] hours.

Ithink I can use the same method
S thatIused to find the times when
the temperature was 22 °C.
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° The line graph shows the number of children who were

late during a week of school.
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@) How many children were late on Thursday?

b) How many more children were late on Monday than on Tuesday?

©) Is Mr Jones's comment correct?
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1am going to work out the Ithink the total is over
number of children late each 100, but I am not sure that
day and record it in  table.

means 100 different children
were late in the week.




